Bellwork Friday, January 31, 2014

6. In any parallelogram ABCD, it is always true that the
1. Carmen is playing with blocks. She arranges stacks of measures Of AABC and ABCD-

blocks so that each successive level of blocks has
1 fewer block than the level below it and the top level

o
gas 1 block. Such a stack with 3 levels is showzn belolw, F' add up to 180 .
armen wants to make such a stack with 12 levels. o
How many blocks would she use to build this stack? G 5 add "p to 90 = o
H. are each greater than 90°.
J. are each 90°.
+—level 1 K. are each less than 90°.
level 2
level 3
A. 66
B. 78
= 132
D. 144
E. 156
12. In the figure below, ZBAC measures 30°, ZABC mea- 33. slclllu::; fcjl%I;::hb;ili‘i)r‘tf/:gjg:gnitssi":i:gg?fl‘?ggi:‘c:sfoig
= . -
sures 110°, and points B, C, and D are collinear. What X Congrasat M iimagles ue s oo, Fak o
is the measure of ZACD ? these has one leg that is twice as long as the other leg.
What fraction of the area of square ABCD is shaded?
A A B
x
D C
B 84 D A %
F. 150° B. 2
G. 140° 9
H. 130° c. 4
J. 120° 9
K. 110° D. 3
8
E. 9



